40.13:
a) 
EMBED Equation.3
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  Left-hand side: 
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But 
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 b) If 
[image: image9.wmf],

0

U

E

>

 then 
[image: image10.wmf]E

U

m

k

=

+

0

2

2

2

h

is consistent and so 
[image: image11.wmf]kx

A

ψ

sin

=

is a solution of 
[image: image12.wmf])

1

.

40

.(

Eq

for this case.

_1121549454.unknown

_1121549458.unknown

_1123678197.unknown

_1123678218.unknown

_1121549459.unknown

_1121549456.unknown

_1121549452.unknown

_1121549453.unknown

_1121549450.unknown

_1121549451.unknown

_1121549449.unknown

_1121549447.unknown

